B8 132 CEE285MHE) HoBEE FAHEH )
20104 E EHFEE mEmEE A

2019F4A1AM52020%F3HA31HZET

= JE = F|| $ pi=d
(B M)
B +%8
I. BB
1. ZMEE 4,251,000
2. ZMEMH<E 0
3. EXRINE 52,000
4. #UXA 0
REINEE 4,303,000
I &XEEH
1. B%%8
(M AGE 828,160
(2)Z Dtz E
RBEE 63,840
BEE 70,240
m-RE 473,952
HERE 42,344
ENRIE 161,600
5EE 1,340,240
LRI —RE& 21,520
B TR e o 370,000
E=t] 138,400
ZTOMFES 2,682,136
EXEEH 3,510,296
2. EBE
(M AGE 207,040
(2)Z Dtz E
RBEE 15,960
BEE 17,560
m-RE 118,488
HERE 10,586
ENRIE 15,400
5EE 286,160
LRI —RE& 880
XEE 3,000
E=t] 34,600
hEEr=E 40,430
RTINS 1,900
HE 10,700
BmERE 0
ZTOMZFES 555,664
EEEE 762,704
REER 4,273,000
LR E AR 30,000
II. #FE5INEE
EENEEET 0
V. #ENER
RENER 0
5| B = HA 1E BREA BE 1R R AR 30,000
EABERBRUEER 0
BTEARR R IE LR B FERE 1,803,433
RERFRY) B IE Bk BA PERR 1,833,433

CE AR ERMEEIATFREERERDODRIATY




